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Instructions :
()  There are 28 objective type questions from Question No. 1 to 5.
Each question carries 1 mark.
Question No. 6 to 12 are very short answer type questions.
Each question carries 2 marks. Word limit 30 words approximately.
(iii) Question No. 13 10 16 are short answer type questions.
Each question carries 3 marks. Word limit 75 words approximately.
(iv) Question No. 17 to 20 are long answer type questions.

Each question carries 4 marks. Word limit 120 words approximately.

(V) Internal options are given from Question No. 6 to 20.
(vi) -

Draw neat and clean labelled diagram wherever required.

/ 1-0771_A 1 WA (2T,

A

(ii)

https://www.mpboardonline.com



1 @ few gaet fafeg - 1%6=6
() Yo (angedieh) F R B o %

(a) n (3rgfm) (b)  2n (Fgmfer)
(¢) 3n {Bl'ﬂﬁlﬁ) (d) 4n (iﬁj:lifﬁ]a)
(i) @ § orafde fEET B T wE @ ¥ o
(a) AiuE (b) ST:wHay
(¢) Fem (d) aRyomy

(i) et § TR (3T BT — areeran) & w2 ome e 2
aferenfirer €1 st & | e & @ - ua e gz e % R b 7

@) GGG (b) AAG
(¢) GAA (dy GUG
(iv) T & st g st 4 e s S 3vs qar g s wE -
(a) #rfeq (b) wwHTd fél_-g
(c) e (d) SRR
(V) U S soereiem ¥ Seae. s @ R fhe emu 1
T 7
(a) hael S (b) HaA AT (ATHR)
(c) Had HraaH (d) smaw X @
(vi) HIEHITZST IETO & -
(a) wstferar (b) wEwfa
(c) TENHI LT (d) omgeH

Choose and write the correct option:
(1) How many chromosomes are present in endosperm (Angiosperm)?

(a) n (Haploid) (b) 2n (Diploid)

(¢)  3n (Triploid) (d) 4n (Tetraploid)
(11) Persistent nucellus in the seed is known as :

(a) Hilum (b) Tegmen

(¢c) Chalaza (d) Perisperm

(iii) In sickle cell anaemia glutamic acid is replaced by valine.
Which one of the lbllowing triplet code is for valine?

(a) GGG (b) AAG
(c) GAA (d) GUG
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(iv) In malaria, the product released by mosquito into blood that causes

chill and fever:
(a) Haematin (b)  Schuftner’s dots
(c) Haemozoin (d) llacmotoxin
(v) In agarose gel electrophoresis. DNA molecules are reparted on the

basis of their:

(a) charge only (b) size only
(¢) volume only (d) charge and shape
(vi) Mycorrhiza is an example of :
(a) Parasitism (b) Commensalism
(¢) Mutualism (d) Decomposcr
2 g wAl & g 8 ST g sif 1%6=6
(i) U ufuad QIh (Wifdda) @ AUSIY (aiem) & wifvd @19 & wiear &
®Ed &
(i) Awan el (R fifén) § S agEn ¥ fea o e
wE & a9 e @& e ae ¥ Tt wEd &1
(i) #fR® s R (Taodl) qu = 7 gfafia &7
<
(iv) o g o g & Wt ofgem gl & T amm
e ¥
(v) ufsqifge feufme oogm @ wafug o9 ¥ Safteds o9 & anw
W Ia=1 Bhar
(vi) wfiRufge oo & g=raer & & €U & HEl AT 2

Fill in the blanks with correct answer :
(i) The process of release of ovum from a mature follicle is called

(ii) DNA finger printing involves identifying differences in some specilic
regions in DNA sequence called as

(ili) Lactic acid bacteria convert milk into o
(iv) Proinsulin contains which is not found in mature insulin.

(v) is caused by mutation in gene related to the adenosine

deaminase enzyme.

(vi) The green plant in the ecosystem are called
rllllllllllllllrllllllllillﬂl [ETQ)
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(i) ¥AFa vsyeE 2|

(i) fafeferg e @ d@=f@ U7 )

(i) ogea ofeifie wgwul & gEm I8 B ¥

(V) ¥FT 3@ B A A B R wmEd E

(V) uds FRUT @ au fafdear B ¥

(i) FfEm AugsE 9 T ARG B sgemsdE (Gzfeer i)
% foe @au @ & W ORI

Write Truce / lalse :

(1) Humans arc oviparous.

(1) Syphilis is a sexually transmitted discase.

(1i1) Lichens cannot be used as industrial pollution indicators.

(1v) Genes that cause cancer are called oncogenes.

(v) Each interferon has its own speciality.

(vi) Clarias gariepinus for aquaculture purposes is posing a threat
to the indigenous catfishes in our rivers.

4 el L g ffET [x5=5

cap e

(i)  ®REAT W (a) w8, aE T U

(ii) HlEAEE W (b) tftarmean

(iii) T ferwrare (c) HaE®

(iv) @i (d) s

(v) PBR322 (¢) efaRe wwhe fear

() I BT B

Match the correct pair and write -

‘A’ ‘B’
(1) Corona radiata (a) z yanda
(11) Structural genes (b) bone marrow
(iii) T-Lymphocytes (c) vectors
(iv) Competition (d) ovum
(v) PBR322 (¢) detrimental interaction

() RBCs
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5 UHh 9 ¥ 3oy fafled
(i) ZIFT & qu am fafad]
(i) PR 3 oy wam & a3 @ S ol ?
(i) #g ¥ wgamET U R R @89 gfe wm e ¥ 2
(iv) w§ shany @ am fafen St Be i saliE w5 d
(v) ‘gt 1 el FER wET Sl B 7
Write answer in the one sentence .
(i)  Write the full form of ZIFT.
(ii) What substances did Miller take in his experiments?
(iii) How do cytokine barriers provide innatc immunity in humans?
(iv) Write down the name of bacterium which produces 'Bt' toxin.
(v) What is called 'lungs of the earth'?

Ix5=5§

6 UR-aE=fym wwn ¥ 7 gEE e foRag) 2

What is amniocentesis ? Give its significance.
Jya / OR

wr A w7 @ giiva i & faRag
What is MTP? Write its safety periods.

7 feg SaftEdd w1 37 g% Sersior iR 2

What is point mutation? Give an example.

s / OR
T Arg Eiferar S wr et o g3 9 TE adan gear) w®i

The human male never passes on gene for haemophilia to his son. Why?

8  argwl fafester @wm 7 SeeTw dfw) 2
What is adaptive radiation? Give an example.
awd / OR
e vt Praw &) R
Write Hardy-Weinberg principle.

9  uM & Gl ¥ aERdediar a e F a7 2
Why are cynobacteria considered useful in paddy ficlds?
sigar / OR
e o & a3 fsx i & & 7

Why does Swiss cheese have big holes?
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10 sEe= (Sa sifer) fFa oed &7
What is biopatent?
qyaE / OR
gAeq wEd /1 &7 3Eh At 7 foafa

What is golden rice? Write about it.

- FETE A ¥ 9 w1 GEHd & 7
What do you understand by population density?

Y / OR
BIHE & aRewifa ST od e Sereer SRR

Define camouflage and write an example.

12 @i Wiz f6l #8d €7 YA & US & Wig &1 4 fafau) 2
What is hot spot? Write the name of a hot spot in India.
Jaya / OR
Sa-fafauar & 7 amayas e & W faflaa

Name the three important components of bio-diversity.

13 9T g9 TR & e w4 fua o) 7 39 & @ am fafae fred s 3
g fega g4 %)

Why are the human testis located outside the abdominal cavity? Write the

name of pouch in which they are present. https://www.mpboardonline.com

vy / OR
il A9 9 B JEE - FI2 B oy AR 97 TR
Draw ncat and clean labelled diagrammatic sectional view of the female
reproductive system.

14 UHTESH BE 27 T@ifay gy gzt _ 3
What is monohybrid cross? Explain with the help of line diagram.

ayg / OR
gewwIiaal 68 B8 27 IamTwr Ay guesl!

What is codominance? Explain wigh example-
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15 M Femniie v b Seenier 4 d9 o fife

) 3
Write three differences between Biopesticides and Chemical pesticides,
HYQr / OR
IANG o 1 @y it R e
Draw neat and clean labelled diagram of Bio gas plant.
16 ot & faofs wda @ & O 2?7 @ S 3

Why pyramid of energy is always upright? Explain it.
A / OR
ST, FhHA WAliD SAEshdl T & IAesa & o Iwis g a5

TuiF W)

Describe the interrelationship between productivity, gross primary
productivity and net productivity.

17 TSI QU7 eSS $ §e ot W BY 0 g g % A 4
F6E T &1 BT R w01 2 & 7 57 A1 geelt F o & g G
Hgs & 919 §qRU) -

Differentiate between microsporogenesis and megasporogenesis.

Which type of cell division occurs during these events? Name the
structures formed at the end of these two events.

ddr / OR
Uasmﬁrmqaa%ﬁmzmm?rqﬁ%ﬁa%awl

Draw neat and clean labelled diagram of a typical angiosperm ovule.

18 diuau Wﬁmmﬁ%@mm%ﬁmmﬁmﬁ@%ﬁ 4
ﬁ.@.q.a%%ﬁa%éwzuﬁaﬁm?

How did Hershey and chase differentiate between DNA and protein in
their experiment while proving that DNA is (he genctic material?

: qF| / OR
DNAWWH%?WWHqﬁm&maﬁRﬁ@m

What is DNA finger printing? Write its mechanism and application.
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19 wafr T & dad 9% @ aRa Fregu S

Draw a diagrammatic representation of the life cycle of the malaria parasite.
AqYat / OR

wew T @ v P fga d aif

(i) UsH & qu 74

(il) T=H & WIEd H 7™

(iii) Tzd # Uwam F UR I

Describe AIDS discase on the basis of the following points:

(i)  Full name of AIDS

(ii) Name of AIDS pathogen
(iii) Any four measures to prevent AIDS

20 vwieH SEar atafea & afgs auiE S
Describe the polymerase chain reaction with diagram.
¥Et / OR
TR TIgH & avF R gl & smur gt #ifg -
(1) Wide=A TrEq & gieamn
(i) wow vhe=E TERgfTa B AW
(iii) wide=m Tgw g 3@ fagaT & wa
Describe the Restriction enzyme on the basis of the following points :
(1)  Definition of Restriction enzyme.
() Name the first Restriction endonuclease
(i11) Types of cleavage produced by Restriction cnzyme.
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